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treefind D E/EHI

o treefind([1,2,3,4]) {IvV|lv% 3 ==2 } #=> 2
» treefind([[1,2],[3,[4,5]],6]) {v|v% 3 ==2}
H=> 2
e treefind(
["ru by", Ilperllll "python", "php", Illispll]) {|V|
/~p/ ="V}
#=> Ilperlll
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def treefind(ary)

a = ary.flatten.find_all {|v| yield v }
a.empty? ? nil : a[O]
end
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test-treefind.rb IC treefind D EZZE XA
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% ruby test-treefind.rb

Loaded suite test-treefind

Started

A=y TFAMNE

rnll

Finished in 0.000517 seconds.

2 tests, 4 assertions, O failures, O errors
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def tree_each(obj, &b) def treefind(ary)
I if obj.respond_to? :each  tree each(ary) {|v|

obj.each {|v| return v if yield v
tree _each(v, &b) }
! nil
else end
yield obj
end

end
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